
EE 201 —  HW 5-17 Name__________________________________________

In the series RLC circuit shown below, the voltage 
across the capacitor is known to be 
 
 
 
 
where Vm = 5 V, τ = 20 ms, and ω = 1000 rad/s. 
 
Determine the expressions of vR(t) and vL(t). 
 
 
 
vR(t) = _________________________________________________________________ 
 
 
 
vL(t) = _________________________________________________________________ 
 
 
Hint: Determine the expression current from the capacitor (note the direction in relation to the 
voltage polarity).  Use the current expression to help find the resistor and inductor voltages.  And 
yes, the expressions are messy.

Write your answers — and whatever work will fit — on this sheet.  Staple any sheets with additional work behind.
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